oMb FE

= (Fm4)

A3t

[
"
Ll

BILBESIXFER(-12m)5E;

g ' &
& #th 75 B o

THMOFE12H



WIER FBLUAEEHMRERCI2NEETIEEF DY

% # s - BRHE s ¥ 8 i & & =
EEIEE 291,591, 048
HiEIE®E 54,872,844 + 87,343,547 142, 216, 391
H#BREE GD 26,707,411 + 26,954,969 + 1,210, 464 54,872, 844
HBRFE (BE) 26,707, 411
HBEREE (F) 295,235,148 x 9.13% ((3.95% x1.68 +1.50% x 1.100 x 1.02) 26, 954, 969
BERERER 295,235,148 x 0.41% 1,210, 464
RGEHEE 346,463,892 x 25.21% ((20.73% +1.52%) x 1.100 x 1.03) 87,343, 547
TR 291,591,048 + 142,216, 391 433,807, 439
—REEERE 433,807,439 x 13.92% (13.92% x 1.00) — 6,956 60, 379, 039
ZHIRITE 433,807,439 x 0.04% 173,522
R i 433,807,439 + 60,379,039 + 173,522 494, 360, 000
HEGEHRLE 494,360,000 x 10.00% 49,436, 000
FEIZRE 494,360,000 + 49, 436, 000 543,796, 000




BEARRE 1B B 0 X 2 BE (-1 2m) s TE(Z D 4)

& b I - KT By ¥ = =i & % W OE

EHEIEE 291,591, 048
B (12m) 291,591,048
AAI [HEXRRK] 288, 346, 989
MEXRT 288, 346, 989
S FEE @ 2,000mm, #EHIFKIM(EHE) 10, 581, 774
1 FEATHRHE pi: 5.00 1,472,953 7,364, 765

.
2 BMEE (ZTIRAD 47.00 68, 447 3,217,009

m3
BEMEE 200kg/fELLT (F8 7€) 11,788, 657
3 AMEE RNy Bty IR R %R 563. 00 20, 939 11,788, 657

Zm3

fHE xR ¢ 1,200 x 14t, L=31.5m 196, 482, 118
4 HERRAMHE A ¢ 1,200 x 14t (SKY490) L=31.5m 1.00 148, 558, 000 148, 558, 000

=
5 SEXRIRITER (M) (1) ¢$1,200, #RAEK16. 1m 31.00 1,231,254 38,168,874

.
6 T XIRITER (D) (2) ¢ 1,200, B AFK15. 4m 6.00 991, 009 5,946, 054

.
7T B XIRITER (M) (3) ¢ 1,200, BAEK22. 1m 3.00 1,269, 730 3, 809, 190

.
HEXRIRQ ¢1,200x 14t, L=31.0m 19,592, 216
8 #E XiR## (B) ¢ 1,200 x 14t (SKY490) L=31.0m 1.00 14, 667, 200 14,667, 200

=®




BERREK BB E BIREE12mEE TEE 0
% [} A - BT B = B (@ ® &
9 T XIRITER (B) ¢1,200, RAEK16. 1m 400 1,231, 254 4,925 016
.
HE xRS @ 1,200x17t, L=32.5m 40, 249, 930
10 SHE XM+ (D) ¢ 1,200x 17t (SKY490) L=32.5m 1.00 31, 884, 650 31, 884, 650
=
11 $MEXRITE D) 1,200, #RA&20.2m 7.00 1,195, 040 8, 365, 280
.
HHEXRIRD ¢1,200x17t, L=32.0m 5,691, 266
12 SHE XM $ (E) $1,200x 17t (SKY490) L=32.0m 1.00 4,496, 226 4, 496, 226
%
13 $E RIRITER (B) ®1,200, RAFK20.2m 1.00 1,195, 040 1,195, 040
.
i 3,961,028
14 BHMEERE ELE 70.00 52,099 3, 646, 930
m
15 BMER EH2=10m, EHL=17m 1.00 314,098 314,098
=
RET 3, 244, 059
REEEZHERT 3,244, 059
R ERE 2 SR AR SP-M#!, L=7.0m 3,244, 059
16 {REX¥E 2 MR E R SP-II &I, L=6~12m 1.00 3,244, 059 3, 244, 059
=
HEREE FEL) 26, 707, 411
ol fREx 26,707, 411




BEARRE 1B B 0 X 2 BE (-1 2m) s TE(Z D 4)

% b R - BksHiE B % 2 B & & =

HBRRE 26, 707, 411
Efi - Z LB 6, 364, 396
AR MITMH-125 2,177,126
17 20L& (1) KEB~BLE (FE) 2.00 1,088, 563 2,177,126

G|
FARY SMEX R /8y K&EM800~1, 000tFE 1,186, 772
18 Z L% (2) KEB~BLE (FE) 2.00 593, 386 1,186, 772

[a]
Z LM REHMI120t B K 2,273,552
19 ZLME Q) ERE~ELE () 2.00 1,136,776 2,273, 552

[a]
AR INY 9 R B EM2m3 726, 946
20 Z LMRE (4) KEH~BLUE (FE) 2.00 363, 473 726, 946

G|
e 2,901, 157
[ER T T ESER 20— —9 L—280tR 1,137, 687
21 HERMESLER (1) sn0—5—45 L—80tR 1.00 1,137,687 1,137,687

=
BEHME RS ER SRERA—ILT— 2 TR 1, 660, 772
22 S RFASLER (2) eREXA—ILyr— VT REIE (RFy FX) 1.00 1,660, 772 1,660, 772

%
REEM & B 102, 698




BERNRE

FBLUAEEHMRERCI2NEETIEEF DY

£ [} g - Bkt B £ it ® =B

23 fRERMEER (1) B2 [=10m 1.00 18, 264 18, 264
=

24 {REEMEER (2 B L=1m 1.00 84, 434 84, 434
=

EEBRBLBSRE 3, 644,100

KE BB LR 14mx 14m, H—F > Kdm 3,644, 100

25 BEEFLERERE 1.00 1,122,700 1,122, 700
®

26 FAEAMLEEE 1.00 1,009, 400 1,009, 400
H

21 BEEMLBERSE HBEO4AVFHEY 1.00 1,512,000 1,512,000
=

22E 13,628, 824

REXE = 1,085, 368

28 STiREHE 10-P&! 1.00 848, 640 848, 640
=®

29 JTiRIEMHER KTiR4E (10-PHEY) 1.00 180, 633 180, 633
=

30 EBEATHIFERE ZEAT (E-18Y) 1.00 56, 095 56, 095
=

TZEx K TEERRK 11,462, 639

31 RLEEWRM (1) h8h 1.00 9,312,788 9,312,788
=®

32 REFEHM Q) FE10h 1.00 2,149, 851 2,149, 851
E2

TZEx K RETHER 1,080, 817




BERNRE

FBLUAEEHMRERCI2NEETIEEF DY

£ [} R - BiKTE By % = i ® B

3B REERMEMEESE (1) FE8h 1.00 857, 466 857, 466
E2

M RTLERMEMEEE (2 FE10h 1.00 223, 351 223, 351
%

HitEEE 42,000

Bt EHE EIERAE 42,000

B E=FYUITRE 1.00 42, 000 42,000
E2

KE - EEERIRH 126, 934

KEREH 36, 935

36 KEREF (1 HMATARH-125 1.00 23, 300 23, 300
®

37 KEREH (2) 9 L— Ut B M46~50tHE 1.00 4,545 4,545
®

38 KEREH (3) SMERX R/ FEH#800~1, 000tFE 1.00 4,545 4,545
%

39 KEREHE 4) RNy Bfts8w 9 R85 M 2m3 1.00 4,545 4,545
%

EERKRH 89,999

40 HJERERH D S ATHRH 1.00 13, 636 13, 636
E2

41 HZERIRH Q) i, HEXRIRITEH 1.00 76, 363 76, 363




REK-FET/ Svr—o 12 LI B X R BE (-1 2m) i T B (Z D 4)

E55 1
BFR: SEATIRAl EL 1TH&HY (1.6XK)
% b K - BKTiE B H = B O{H & %8 B OE B =
B M-40
m3 19. 59 2, 700. 00 52, 893
ki F—SUTEY
& 1.78 44, 000. 00 78, 320
SEERH;—ILr—> U T REI (K1TIE | ¢ 2000mmik
4l 5 F) B 1.00 550, 842. 00 550,842 6.00H / 8H
HERXR /Ny KEM (GTEER #MB00tTE ~1000tTE HPFEEH 220~240t
B 1.00 847, 302. 00 847,302 8H
=3 #M500t &
B 1.00 148, 527. 00 148, 527 8H
gl £HD 500PSEY
B 1.00 185, 535. 00 185,535/2.00H / 8H
Eo ] #HD 5tH
B 1.00 239, 588. 00 239, 588 8H
v a—29 L—2 (&TiEH BL) CAEE 80tH
) B 1.00 126, 284. 00 126, 284 8H
HEER
A 1.00 24, 150. 00 24, 150
LU
A 2.00 25,200. 00 50, 400
LEEEE
A 2.00 20, 580. 00 41,160
MM 2&0Y%
% 0.50 2,345,001. 00 11,725
& i YEZHEH : 1.60K 1,472, 953. 00 2,356, 726
EE:2
& AMEE (KTEAED 1H&Y (15m 3)
% L R - BRTiE =L v o 2 B & B W OE 5 &=
EEHM GEfiemE) #AD 120t/
B 1.00 804, 936. 00 804,936 4.00H / 8H
gl £HD 700PSEY
B 1.00 216, 665. 00 216,665/2.00H / 8H
MM 2&0Y%
% 0.50 1,021, 601. 00 5,108
& R YEZ%£8EH : 15.00m 3 68, 447.00 1,026, 709




Rffik -/ \v7r—o

&5 :3

£ BMIBE RNy RNy I RDEZER

FBLUBESHRFECI2MEETE(Z0)

1H&Y (100Em 3)

4 b R - K& By 2 B & # IS 5 &
RNy MMy IR B EMR $AD 2.0m3 R4 L b iNbFy FEE
B 1.00 708, 412. 00 708,412/8.00H / 10H
3 fin £ED 450PSEY
=] 1.00 176, 703. 00 176,703 2. 00H / 8H
A E #M GEMTER) $8D 120t
B 1.00 804, 936. 00 804,936 4.00H / 8H
5| £ED 700PSEY
=] 1.00 216, 665. 00 216,665/2.00H / 8H
AL k2N ey R2.0m3 GAVITREYFA R
B 1.00 78, 000. 00 78,000
ICT/Ny U RoHaR IVUHAAET VR
=] 1.00 98, 800. 00 98, 800
A H £ERD%
% 0.50 2,083,516.00 10, 417
& B YEZ%8EH : 100.00ZEm 3 20, 939. 00 2,093,933
BEBE5 4
2 HERRAFE A d1,200x 14t (SKY490) L=31.5m 15y
% E R - BRTE BARL 2 B & H = i &
fHE R A @ 1,200 x 14t (SKY490) L=31.5m
X 40. 00 3, 713, 950. 00 148, 558, 000
& &t fEEEEH - 1.00K 148, 558, 000. 00 148, 558, 000




REK-FET/ Svr—o 12 LI B X R BE (-1 2m) i T B (Z D 4)

&S :5
ZF: HERRITER W) (1) ¢1,200, EAEK16. 1m 1B&Y (3.3%K)
2 L I - BRTiE By B E B O{H & %8 W = 5 &
MITM GRIE/ N> ) H-125
B 1.00 3,463, 500. 00 3,463,500/6.00H / 8H
=¥ 500t %
=] 1.00 148, 527. 00 148,527 8H
iR $MD 5tA
B 1.00 239, 588. 00 239,588 /8H
HEER
A 1.00 24, 150. 00 24,150
LU
A 5.00 25,200. 00 126, 000
LEEEE
A 2.00 20, 580. 00 41,160
MR 2&0Y%
% 0.50 4,042,925.00 20,214
& B YEEREH : 3.30K 1,231, 254. 00 4,063, 139
&S :6
ZF: HERRITERA) () ¢1,200, EAEK1S5. 4m 1BEY (4.1F)
% L R - kTiE =X H = B {f & el = i &
MITMCGREN> ) H-125
B 1.00 3,463, 500. 00 3,463,500/6.00H / 8H
= $M500tFE
=] 1.00 148, 527. 00 148,527 8H
5o D 5t
B 1.00 239, 588. 00 239,588 8H
tHEER
A 1.00 24, 150. 00 24,150
LU
A 5.00 25,200. 00 126, 000
LTEEXE
A 2.00 20, 580. 00 41,160
MM £HRD%
% 0.50 4,042, 925.00 20,214
& R 1E¥8EH - 4. 10K 991, 009. 00 4,063, 139




Rffik -/ \v7r—o

FBLUBESHRFECI2MEETE(Z0)

&5 :1
2 HERRITHRW 3B)  ¢1,200, RAEK22. 1m 1BHY (3.2K)
4 b R - K& By 2 B & # IS 5 &
MITM GRIE/ N> ) H-125
=] 1.00 3,463, 500. 00 3, 463,500 6.00H / 8H
=Y ) 500t %
B 1.00 148, 527. 00 148,527 8H
5 $HD 5t
=] 1.00 239, 588. 00 239, 588 8H
HEE &
A 1.00 24,150. 00 24,150
EUI
A 5.00 25, 200. 00 126, 000
LEEEE
A 2.00 20, 580. 00 41,160
A H £ERD%
% 0.50 4,042, 925. 00 20, 214
& B YE¥£8EH : 3.20K 1,269, 730. 00 4,063,139
&5 :8
¥ HERRME(B)  @1,200x 14t (SKY490) L=31.0m 15y
% E R - BRTE BARL 2 B & H = i &
fHE XMk (B) @ 1,200 x 14t (SKY490) L=31.0m
X 4.00 3,666, 800. 00 14, 667, 200
& &t fEEEEH - 1.00K 14,667, 200. 00 14, 667, 200




Rffik -/ \v7r—o

FBLUBESHRFECI2MEETE(Z0)

&S :9
2 HERMRITERB®  ¢1,200, BAEKIGC Im 1BHY (3.3%K)
2 L R - K& By = B & £ W = 5 &
MITHR GEEN> ) H-125
=] 1.00 3,463, 500. 00 3, 463,500 6.00H / 8H
=¥ 500t %
B 1.00 148, 527. 00 148,527 8H
iR $HD 5t
=] 1.00 239, 588. 00 239, 588 8H
HEE &
A 1.00 24,150. 00 24,150
LU
A 5.00 25, 200. 00 126, 000
LEEEE
A 2.00 20, 580. 00 41,160
MR £ERD%
% 0.50 4,042, 925. 00 20, 214
& B YEEREH : 3.30K 1,231, 254.00 4,063,139
5 :10
2 HERRMHE D) d1,200x 17t (SKY490) L=32.5m 15y
% E R - BRTE By = B & %8 = i &
#ME Xk (C) ¢ 1,200x 17t (SKY490) L=32.5m
X 7.00 4,554, 950. 00 31, 884, 650
& it fEZ8EH - 1. 00K 31, 884, 650. 00 31, 884, 650




Rffik -/ \v7r—o

FBLUBESHRFECI2MEETE(Z0)

B#5: 1
2% HEXRIRITER D)  ¢1,200, #RAK20.2m 1B3HY 3.4%K)
% E R - BRTE By = B & %8 = i &
MITHR GEEN> ) H-125
B 1.00 3,463, 500. 00 3,463,500/6.00H / 8H
=¥ 500t %
=] 1.00 148, 527. 00 148,527 8H
iR $HD 5t
B 1.00 239, 588. 00 239,588 /8H
HEE &
A 1.00 24, 150. 00 24,150
LU
A 5.00 25,200. 00 126, 000
LEEEE
A 2.00 20, 580. 00 41,160
MR £ERD%
% 0.50 4,042,925.00 20,214
& B E¥£8EH : 3. 40K 1,195, 040. 00 4,063, 139
BE 12
2 HERRME(E) 1,200x 17t (SKY490) L=32.0m IEEL)
% E R - BRTE By #H =2 B & %8 = i &
& XM (E) ®1,200x 17t (SKY490) L=32.0m
X 1.00 4, 496, 226. 00 4, 496, 226
& &t fEEEEH - 1.00K 4,496, 226. 00 4,496, 226




Rffik -/ \v7r—o

&HE 13

B ERRITER (B ¢1,200, RAK20.2m

FBLUBESHRFECI2MEETE(Z0)

1BZY (3.4FK)

4 b g - BRKTE BAGL 2 B {f £ IS 5 &=
MITHM CRE/ N> T) H-125
B 1.00 3,463, 500. 00 3,463,500 6.00H / 8H
=Y ) 500t %
=] 1.00 148, 527. 00 148,527 8H
5 $HD 5t
B 1.00 239, 588. 00 239, 588/8H
HEE&
A 1.00 24,150. 00 24,150
LU
A 5.00 25, 200. 00 126, 000
LEEXEE
A 2.00 20, 580. 00 41,160
A H EXZNOY)
% 0.50 4,042, 925.00 20,214
& EEREH : 3. 40K 1,195, 040. 00 4,063, 139




Rffik -/ \v7r—o

FBLUBESHRFECI2MEETE(Z0)

ES .14
&% BMREBERE BL 1#HY (10m)
2 L R - KT By = B i %8 W = 5 &=
g L—rftEm 45~50tF
H 0.70 343, 757. 00 240,629 6.00H / 8H
=¥ 300t %
H 0.70 125, 592. 00 87,914 8H
iR #D 5t/
H 0.30 239, 588. 00 71,876 8H
NAJONnrv 60kW (¥ L— >t B, BEEMR)
H 0.70 34, 530. 00 24,171 6. 00H
R F&) D300A
H 0.70 4, 648. 00 3,253
EEBEER (AL : xR - #@n. (BEH 77 R x5 E2) 150kVA
REBT . BHEBHEHE) B 0.70 24,251.00 16,975
tHEER
A 0.80 24, 150. 00 19, 320
EUT
A 1.30 25, 200. 00 32,760
BRI
A 0.20 25, 200. 00 5,040
LEEXEE
A 0.80 20, 580. 00 16, 464
MR EXNOY
% 0.50 518, 402. 00 2,592
& B 1E%HEH : 10.00m 52, 099. 00 520, 994
5 :15
& BHMEH BHZRL=10m. JEHL=1Tm 1X5Y
2 Eu R - kTiE By = ] el = i &
B H300 x 300 x 10 x 15mm
X 4.00 60, 678. 00 242,712
gz H300 x 300 x 10 x 15mm % 10m
P 2.00 35, 693. 00 71, 386
& B 1E%EHEH - 1.00K 314, 098. 00 314,098




Rffik -/ \v7r—o

FBLUBESHRFECI2MEETE(Z0)

S 16
2% RBRIEZFERRER SP-ME., [=6~12m 1Y
4 g R - KT By 2 B i £ 5 &=
MxmROBItEyY) SP-M & Tm 7204
t 214.20 15,145.00 3,244,059
& H YE¥REH : 1.00 3,244, 059. 00 3,244,059
EZ=
B ZAVVE () KEB~@EILE (8 HEED)
2 Eu R - kTiE By = ] el i &
BEE
= 1.00 357, 883. 00 357, 883
=)
= 1.00 730, 680. 00 730, 680
= g YEZ8EH : 1.00[= 1,088, 563. 00 1,088, 563
H5:18
B AVVE (2) KEB~EILE (8 HEED)
4 g R - KT By 2 B i £ 5 &=
BEE
= 1.00 215, 346. 00 215, 346
=)
= 1.00 378, 040. 00 378,040
= g YEZ8EH : 1.00[= 593, 386. 00 593, 386
H5:19
B ZANRR Q) BHRE~RILE () HEEY
4 g R - KT By 2 B i £ 5 &=
BEE
= 1.00 640, 976. 00 640,976
=)
= 1.00 495, 800. 00 495,800
= g YEZ8EH : 1.00[= 1,136, 776. 00 1,136,776




Rffik -/ \v7r—o

FBLUBESHRFECI2MEETE(Z0)

H5:20
&% ZAVRE @) KEE~BLUE (HFHE) HEEY
4 g R - KT By 2 B i £ 5 &=
BEE
= 1.00 220, 033. 00 220, 033
=)
= 1.00 143, 440. 00 143, 440
= g YEZ8EH : 1.00[H 363, 473. 00 363, 473
E#E 21
BFR: HEEMILEHR (1) sB—5— L —280tA 1X5Y
4 g R - KT By 2 B i £ 5 &=
ST7TL—29L—Y (B A RRKRER) CHEfiE > J8)25tH
=] 1.50 57, 700. 00 86, 550 8H
HHIEXE
A 5.50 23, 000. 00 126, 500
EfREEE HFEEB DY
% 434.00 213, 050. 00 924,637
& H YE¥REH : 1.00 1,137, 687.00 1,137,687
H5:22
2 DAEMIER () f2EEGEXAF—IILyr—P U VEHIE R Fy FR) X5
2 Eu A - kTiE By = ] el i &
Y 0—5%9 L— GHEERER) 80t A
B 1.70 82,175.00 139, 697 8H
YR IERE
A 4.90 23, 000. 00 112,700
EREEER BHEEB DY
% 558. 00 252, 397.00 1,408, 375
= &t YEEBEH : 1.00 1,660, 772. 00 1,660,772

10




Rffik -/ \v7r—o

FBLUBESHRFECI2MEETE(Z0)

&5 :23
2% REMFERA) BZE L=10m XY
4 g g - BRTE BAr = B £ w &
BEYEHEER
= 1.00 12, 684. 00 12,684
mEL - HAAER
= 1.00 5, 580. 00 5, 580
= &t YEXHESD - 1.00K 18, 264. 00 18, 264
&5 :24
&2 REBRMEER Q) B L=1Tm B
4 g Fg - BT B4 = B @ £ " &
EYBEEEER
= 1.00 65, 474. 00 65,474
HEL - BAHER
= 1.00 18, 960. 00 18, 960
& H 1E%EHEH - 1.00K 84, 434. 00 84,434
5 :25
& FEMIERERE 1&ERY
% 3 R - BRTE By = B @ £ ik &
FEG IR E et L—2idd (#1114 x 14miRk)
= 1.00 1,122, 700. 00 1,122,700
= &t 1EXHED - 1.00E 1,122, 700. 00 1,122,700
H5: 26
£ FAKBLEREE 1&ERY
4 g g - BRTE BAr = B £ w &
B AL E LD L—2iAdr (BT 14 x 14miRk)
= 1.00 1,009, 400. 00 1,009, 400
& H 1E¥HEH - 1.00E 1,009, 400. 00 1,009, 400

11




Rffik -/ \v7r—o

FBLUBESHRFECI2MEETE(Z0)

H5: 2]
2% FEBIERENE BEO9AUFHY 1Y
4 g R - KT By 2 B i £ 5 &=
bih: o]yl e
= 1.00 571, 200. 00 571,200
FAEBILIEER
= 1.00 940, 800. 00 940, 800
= &t YEEBEH : 1.00 1,512, 000. 00 1,512,000
EFE5:28
2 (TEERE  10-PR 1X5Y
4 g R - KT By 2 B i £ 5 &=
ITRIRRE JL—IRE
& 4.00 212,160. 00 848, 640
& H YE¥REH : 1.00 848, 640. 00 848, 640
HE5:29
B TR EMIEEIE (T34 (10-PRY) X5
2 Eu A - kTiE By = ] el i &
KTiZAR JtEE12cd  10-PE!, CB-100%!
= 1.00 172, 032. 00 172,032
HERE EHOY
% 5.00 172, 032. 00 8, 601
& H YE¥REH : 1.00 180, 633. 00 180, 633
&5 :30
B EEATHBEEE 28R40 E18) 1X5Y
2 Eu R - kTiE By = ] el i &
ZAAT FE12, 14cd E-13!, E-8F!
= 1.00 53, 424.00 53,424
HERE BHOY%
% 5.00 53, 424.00 2,671
= &t YEEBEH : 1.00 56, 095. 00 56, 095

12




Rffik -/ \v7r—o

FBLUBESHRFECI2MEETE(Z0)

&H#5 31
£ REEEM (1) BN Ity
2 Eu A - kTiE By = ] el = i &
REERM D 1, 500PSE!
B 217.00 250, 000. 00 6, 750, 000
ZEERMR FRP D 180PS%!
=] 217.00 92, 585. 00 2,499,7956.00H / 8H
= PR VHF 4 i E PRVHF £ 43
B 217.00 617.10 16, 661
MM EXZNOY)
% 0.50 9, 266, 456. 00 46,332
= g YEEBEH : 1.00 9,312, 788.00 9,312,788
HE5 32
& REBERM Q) FHEI0h 1Y
4 g R - KT By 2 B i £ W = 5 &=
REERM D 1, 500PSE!
B 6.00 250, 000. 00 1,500, 000
TREERMK FRP D 180PS%!
=] 6.00 105, 909. 00 635, 454/8.00H / 10H
= PR VHF 4 i E FRVHF £ 43
B 6.00 617.10 3,702
MM EXZNOY)
% 0.50 2,139, 156. 00 10, 695
= g YEEBEH : 1.00 2,149, 851.00 2,149, 851
#5533
2 REERAREMEEE () HMXsh 1Y
4 g R - KT By 2 B i £ W = 5 &=
Hiftga FEZE8h
A 217.00 31, 600. 00 853, 200
MM EXZNOY)
% 0.50 853, 200. 00 4,266
= g YEEBEH : 1.00 857, 466. 00 857, 466

13
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